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Tnpsc group I / ii preliminary  
WEEK TEST 1 OF JUNE, 2023 

 

1. theevinaiyaar anjaar _________ anjuvar 
theevinai ennum serukku 
a. Arivinar  b. Mathiraiyar   c. Vizhumiyar   
d. Malaranaiyar  e. Answer not known 
jPtpddahh; mQ;rhh; ______________ mQ;Rth;  
jPtpid vd;Dk; nrUf;F.  
a. mwptpdhh;  b. khj;jpiuah;    c. tpOkpahh;   
d. kyuidah;   e. tpil njhpatpy;iy 

 

2. Because evil produces evil, therefore should evil be feared more than 
_____ 
a. Fire b. Tsunami c. Fate d. Ghost e. Answer not known 
jPanray;fs; jPikia tpistpg;gjhy;> mj;jPa nray;fs; vijtpl 
kpifahf mQ;rj;jf;fd?  
a. neUg;igtpl   b. flw;Nfhistpl   c. Copiatpl   
d. Ngiatpl   e. tpil njhpatpy;iy 

 

3. enaippakai yutraarum uyvar vinaippakai 
veeyaadhu pinsendru adum 
In this Kural the term ‘Adum’ means 
a. will win  b. killing c. Laughing   d. Shy  e. Answer not known  
vidg;if cw;whUk; ca;th; tpidg;gif  
tPahJ gpd;nrd;W mLk; - vd;w Fwspy; tUk; “mLk;" vd;w nrhy;ypd; 
nghUs; vd;d?  
a. nty;Yk;   b. nfhy;Yk;   c. eiff;Fk;    
d. ehZk;    e. tpil njhpatpy;iy 

 

4. Destruction will dwell at the heels of those who commit evil even as their 
______ that leaves them not. 
a. Rebirth   b. Karma    c. Fate   
d. Shadow   e. Answer not known 
jPa nray;fisr; nra;jth; Nfl;il miljy; xUtDila ____________ 
mtid tplhky; tePJ mbapy; jq;fpapUj;jiyg; Nghd;wJ.  
a. gpwtp b. fh;kk; c. Co; d. epoy;   e. tpil njhpatpy;iy 
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5. What does Valluvar say as an example of help that can be done without 
considering exchange? 
a. mountain b. rain c. foot hill d. Sea e. Answer not known 
ifkhW fUjhky; nra;Ak; cjtpf;F jpUts;Sth; ctikahf $WtJ 
ahJ? 
a. kiy  b. khhp c. Fd;W  d. ngstk;  e. tpil njhpatpy;iy 

 
6. _______ neernhiRainh thatrae ulakavaam 

paeraRi vaaLan thiru 
a. Ooruni  b. Sunai c. Aruvi d. Aazhi e. Answer not known 
____________ ePh;epiwj; jw;Nw cyfthk;  
Nguwp thsd; jpU.  
a. CUzp  b. Rid  c. mUtp d. Mop  e. tpil njhpatpy;iy 

 
7. What is the characteristic of a superior who knows duty? 

a. He will do charity when there is wealth 
b. He will do not charity when there is no wealth 
c. will not scant their benevolence even when they are without wealth. 
d. a and c 
e. Answer not known 
xg;GuT mwpe;j mwpTilNahhpd; gz;G ahJ? 
a. nry;ttsk; cs;s fhyj;jpy; xg;GuT nra;th;  
b. nry;ttsk; ,y;yhj fhyj;jpy; xg;GuT nra;ahh;  
c. nry;ttsk; ,y;yhj fhyj;jpYk; xg;GuTf;F jsu khl;lhh;.  
d. a kw;Wk; c  
e. tpil njhpatpy;iy 

 

8. In a day 14 workers assemble 42 units. How many units would 23 workers 
assemble? 
a. 60  b. 65  c. 69  d. 68  e. Answer not known 
xU ehspy; 14 njhopyhsh;fs; 42 mLf;Ffis mikfpd;wdh;> vdpy; 23 
njhopyhsh;fs; vj;jid mLf;Ffis mikg;ghh;fs;? 
a. 60  b. 65  c. 69  d. 68  e. tpil njhpatpy;iy 

 

9. ‘A’ alone can do a piece of work in 35 days. If ‘B’ is 40% more efficient 
than ‘A’, then ‘B’ will finish the work in how many days? 
a. 15 days  b. 25 days  c. 35 days  d. 45 days     e. Answer not known 
‘A’ vd;gtu; jdpNa xU Ntiyia 35 ehl;fspy; Kbg;ghh;. ‘B’ Mdtu;> 
‘A’-I tpl 40% $Ljy; jpwd; tha;e;jth; vdpy;> ‘B’ Mdtu; me;j 
Ntiyia vj;jid ehl;fspy; Kbg;ghh;? 
a. 15 ehl;fs;  b. 25 ehl;fs;   c. 35 ehl;fs; 
d. 45 ehl;fs;  e. tpil njupatpy;iy 
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10. Akash can complete a work in 3 days, whereas Radha can complete it in 
only 6 days.  If they work together, in how many days, can the work been 
completed? 
xU Ntiyia Mfh~; 3 ehl;fspy; Kbg;ghh;. mNj Ntiyia uhjh 
Kbf;f 6 ehl;fs; MFk;. ,UtUk; Nrh;e;J nra;jhy;> mt;Ntiyia 
vj;jid ehl;fspy; Kbg;gh;? 
a. 1  b. 2  c. 3  d. 4  e. Answer not known 

 
11. The chapter charity comes under which Part? 

a. Paiyiram  b. Illaraviyal   c. Thuravaraviyal  
d. Oozhiyal  e. Answer not known 
<if vDk; mjpfhuk; mike;Js;s ,ay; vJ? 
a. ghapuk;   b. ,y;ywtpay;   c. Jwtwtpay; 
d. Copay;   e. tpil njhpatpy;iy 

 
12. Which among the following is the safest place for wealthy people to save 

their earned money? 
a. Bank   b. Poor’s Stomach   c. Temple   
d. None of these e. Answer not known 
nry;te;jh;f;F nry;tj;ij ghJfhj;J itg;gjw;F rpwe;j ,lkhf miktJ 
vJ? 
a. tq;fp   b. twpath;fspd; tapW  c. Nfhtpy; 
d. ,it VJkpy;iy e. tpil njhpatpy;iy 

 
13. To whom pangs of hunger will not affect? 

a. Those who share their food b. poor people  c. wealthy people 
d. saints     e. Answer not known 
grpnaDk; jPa Neha; ahiu mZfhJ? 
a. gfph;e;J cz;gth;fis b. twpath;fis  c. nry;te;jth;fis  
d. Jwtpfis   e. tpil njhpatpy;iy 

 

14. The gas present in the pores of soft finely stratified sedimentary rock is  
a. Shale gas   b. Gobar gas   c. Water gas 
d. Oxygen gas   e. Answer not known 
nkd;ikahd tz;ly; ghiw mLf;Ffspd; Jisfspy; cs;s thAtpd; 
ngah; vd;d? 
a. N~y; thA   b. Nfhgh; thA   c. ePh; thA 
d. Mf;rp[d; thA  e. tpil njhpatpy;iy 

 

15. LPG is a mixture of  
a. C6 H12 + C 6H6   b. C 4H 10+C3H8    c.  C 2H 4 +C 2H 2 

d. C 2H4 + CH4    e. Answer not known 
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LPG (rikay; vhpthA) vd;gJ _______________ fyitahFk;. 
a. C6 H12 + C 6H6   b. C 4H 10+C 3H 8   c.  C 2H 4 +C 2H 2 

d. C 2H4 + CH4    e. tpil njhpatpy;iy 
 
16. The measurement which is used to measure the ignition delay of the fuel 

in diesel engine is  
a. Cetane number  b. Octane number  c. Calorific value 
d. Specific energy  e. Answer not known 
Bry; vQ;rpdpy; cs;s vhpnghUspd; gw;witg;G jhkjf; fhy msit 
msg;gjw;F cjTk; msT 
a. rPl;Nld; vz;   b. Mf;Nld; vz;  c. fNyhhp kjpg;G 
d. jd; Mw;wy;   e. tpil njhpatpy;iy 

 
17. Oil, natural gas and coal are examples of 

a. Geothermal energy   b. Biofuels   c. Fossil Fuels 
d. Renewable Energy   e. Answer not known 
vz;nza;> ,aw;if thA> epyf;fhp Kjypad———— d; cjhuzkhFk; 
a. Gtp ntg;g rf;jp   b. caph; vhpnghUs; c. gbk vhpnghUs; 
d. GJg;gpf;fty;y rf;jp  e. tpil njhpatpy;iy  

 
18. Pipe A can fill a cistern in 4 hours while pipe B can empty it in 6 hours. If 

both of them are opened together at the same time when the tank is 
empty, the number of hours taken by them to fill it is 

       a. 6      b. 8  c. 10  d. 12  e. Answer not known 
xU ePh;njhl;bia Foha; A topahf ePh;tpl;L epug;Gk; Neuj;jpy; 4 kzpNeuk; 
MfpwJ. mNj Neuj;jpy; Foha; B MdJ 6 kzp Neuj;jpy; njhl;bia ePh; 
,y;yhky; jpwe;J tpl;L fhyp nra;fpwJ. njhl;b fhypahf ,Uf;Fk; NghJ 
xNu Neuj;jpy; ,uz;L Foha;fSk; jpwe;jpUe;jhy; njhl;b epuk;g vt;tsT 
NeukhFk;? 
a. 6     b. 8  c. 10  d. 12       e. tpil njhpatpy;iy 

 
19. 25 women can finish a work in 15 days. 15 men can complete the same 

work in 10 days. What is the ratio between the capacity of a woman and a 
man? 
a.  1 : 5                 b.  3 : 2                    c. 5 : 2             
d. 2 : 5  e. Answer not known 
25 ngz;fs; xU Ntiyia 15 ehl;fspy; nra;J Kbf;f KbAk;.  mNj 
Ntiyia 15 Mz;fs; 10 ehl;fspy; nra;J Kbf;f KbAk;.  ngz;fs; 
kw;Wk; Mz;fspd; Ntiy nra;Ak; jpwDf;F ,ilNaahd tpfpjk; vd;d? 
a.  1 : 5                 b.  3 : 2                   c. 5 : 2                  
d. 2 : 5  e. tpil njhpatpy;iy 
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20. If 4 men or 6 boys can finish a piece of work in 20 days, in how many days 
can 6 men and 11 boys finish it? 
a. 5 days  b. 6 days c. 7 days d. 8 days e. Answer not known 
4 Mz;fs; my;yJ 6 igad;fs; xU Ntiyia 20 ehl;fspy; Kbg;gh;fs;.  
mt;Ntiyia 6 Mz;fs; kw;Wk; 11 igad;fs; vj;jid ehl;fspy; 
Kbg;ghh;fs;?  
a. 5 ehl;fs; b. 6 ehl;fs;   c. 7 ehl;fs; 
d. 8 ehl;fs; e. tpil njhpatpy;iy 

 
21. Which Five Year plan focus on “Growth with Social Justice and Equity”? 

i. Seventh Five Year Plan     ii. Eighth Five Year Plan 
iii. Ninth Five Year Plan     iv. Tenth Five Year Plan 
Select the correct answers by using the codes. 
a. (i) and (ii)   b. (ii) only    c. (iii) only 
d. (i) and (iv)   e. Answer not known  
ve;j Ie;jhz;Lj; jpl;lk; “rKf ePjp kw;Wk; rkj;Jtj;Jld; $ba 
tsh;r;rpia” ftdkhd/Nehf;fkhf nfhz;Ls;sJ? 
(i) VohtJ Ie;jhz;L jpl;lk;   (ii) vl;lhtJ Ie;jhz;L jpl;lk; 
(iii) xd;gjhtJ Ie;jhz;L jpl;lk;   (iv) gj;jhtJ Ie;jhz;L jpl;lk; 
FwpaPl;il gad;gLj;jp rhpahd tpilia Njh;e;njL 
a. (i) kw;Wk; (ii)   b. (ii) kl;Lk;   c. (iii) kl;Lk; 
d. (i)kw;Wk; (iv)   e. tpil njhpatpy;iy 
 

22. Which Five Year Plan has the vision and strategy to “Achieve faster, 
sustainable and more inclusive growth”? 
a. Tenth plan   b. Twelfth plan   c. Ninth plan 
d. Eighth plan   e. Answer not known 
ve;j Ie;jhz;Lj; jpl;lkhdJ “tpiuthd epiyahd kw;Wk; cs;slf;fpa 
tsh;r;rp” vd;gij Nehf;fk; kw;Wk; cj;jpahff; nfhz;bUe;jJ? 
a. 10 tJ jpl;lk;  b. 12 tJ jpl;lk;  c. 9 tJ jpl;lk; 
d. 8 tJ jpl;lk;   e. tpil njhpatpy;iy 

 

23. The model adopted in the second five-year plan was 
a. Harod-Domar Model   b. Kaldor model   c. Meade’s model 
d. Mahalanobis model   e. Answer not known 
,uz;lhtJ Ie;jhz;L jpl;lj;jpy; Vw;Wf;nfhs;sg;gl;l khjphp  
a. `uhL – Nlhkhh; khjphp  b. fhy;lhh; khjphp   c. kPl; khjphp 
d. k`yNehgp]; khjphp  e.  tpil njhpatpy;iy 

 

24. The eighth five-year plan is ______ type of planning. 
a. Totalitarian   b. Imperative   c. Indicative 
d. Annual    e. Answer not known 
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vl;lhtJ Ie;jhz;Lj; jpl;lk; ________  jpl;lkhFk;.  
a. rh;thjpfhu  b. mjpfhug;g+h;   c. mwpTWj;Jk; 
d. tUlhe;jpu  e. tpil njhpatpy;iy 

 
25. Choose the expansion of NITI Aayog? 

a. National Information and Taxes in India 
b. National Institution for Trade in India 
c. National Institution for Transforming India 
d. National Integrated Trade Institute    
e. Answer not known 
NITI Aayog vd;gjd; tphpthf;fk; vd;d? 
a. National Information and Taxes in India 
b. National Institution for Trade in India 
c. National Institution for Transforming India 
d. National Integrated Trade Institute 
e. tpil njhpatpy;iy 

 
26. Who was the Head of the Planning Commission in India? 

a. President   b. Vice President  c. Prime Minister 
d. Supreme Court Judge e. Answer not known 
,e;jpaj; jpl;lf; FOtpd; jiytuhf ,Ue;jth; ahh;? 
a. FbauRj; jiyth;  b. Jizf; FbauRj; jiyth; c. gpujkh;  
d. cr;r ePjpkd;w ePjpgjp e. tpil njhpatpy;iy 

 
27. The National Planning Commission was established on 

a. 15 March 1948 b. 15 March 1950  c. 15 August 1942  
d. 15 August 1950 e. Answer not known 
Njrpa jpl;lf;FO epWtg;gl;l ehs;  
a. 1948 khh;r; 15  b. 1950 khh;r; 15   c. 1948 Mf];l; 15  
d. 1950 Mf];l; 15  e. tpil njhpatpy;iy 

 

28. A can do 1/3 of a work in 5 days. B can do 2/5 of the work in 10 days. In 
how many days both A and B can do the work? 

a. 
3

7
4

 days  b. 
3

9
8

 days   c. 
4

8
5

 days   

d. 10 days e. Answer not known 
Ntiyapd; 1/3 gFjpia A Ie;J ehl;fspYk; 2/5 gFjpia B gj;J 
ehl;fspYk; nra;thh;fs; vdpy; ,UtUk; ,ize;J ,t;Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;fs;? 

a. 
3

7
4

 ehl;fs; b. 
3

9
8

 ehl;fs;   c. 
4

8
5

 ehl;fs; 

d. 10 ehl;fs; e. tpil njhpatpy;iy 
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29. A can complete a work in 12 days. B can complete a work in 20 days. A 
and B together work for 3 days after that A left the work. B can complete 
the remaining work in  
a. 9 days    b. 11 days     c. 12 days    
d. 13 days   e. Answer not known 
A xU Ntiyia 12 ehl;fspy; Kbg;ghh;. mNj Ntiyia B> 20 ehl;fspy; 
Kbg;ghh;> A kw;Wk; B Nrh;e;J 3 ehl;fs; Ntiy nra;jgpd; A nrd;W 
tpl;lhh;. kPjp Ntiyia B Kbf;f Njitg;gLk; ehl;fs; 
a. 9 ehl;fs;   b. 11 ehl;fs;   c. 12 ehl;fs;  
d. 13 ehl;fs;  e. tpil njhpatpy;iy 

 
30. A can do a piece of work in 8 days and B can do the same piece of work in 

12 days.  A and B together complete the same piece of work and get `200 
as the combined wages.  B’s share of the wages will be 
a. ` 75  b. ` 80 c. ` 85 d. ` 90 e. Answer not known 
xU Ntiyia A, 8 ehl;fspy; nra;J Kbg;ghh;. mNj Ntiyia Kbf;f 
B-f;F 12 ehl;fs; MFk;. me;j Ntiyia A kw;Wk; B ,UtUk; Nrh;e;J 
Kbj;J ì 200 ia xUq;fpize;j Cjpakhf ngw;why; mjpy; B-f;fhd 
Cjpak; 
a. ` 75  b. ` 80 c. ` 85 d. ` 90 e. tpil njhpatpy;iy 

 
31. In which five year plan period the National Development Council was set 

up? 
a. First Five Year Plan  b. Second Five Year Plan 
c. Third Five Year Plan  d. Sixth Five Year Plan 
e. Answer not known 
ve;j Ie;jhz;L jpl;l fhyj;jpy; Njrpa tsh;r;rpf;FO Muk;gpf;fg;gl;lJ? 
a. Kjy; Ie;jhz;L jpl;lk;  b. ,uz;lhk; Ie;jhz;L jpl;lk;  
c. %d;whk; Ie;jhz;L jpl;lk; d. MwhtJ Ie;jhz;L jpl;lk; 
e. tpil njhpatpy;iy 
 

32. Choose the Right matches among type: 
I. First five year plan  - 1950 – 1955 
II. Third Five year plan  - 1966 – 1970 
III. Ninth Five year plan  - 1997 – 2002 
IV. Twelfth five year plan - 2012 – 2017 
a. I and II correct b. III and IV correct  c. I and III only correct 
d. II and IV correct c. Answer not known 
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rupahd ,iziaj; Nju;e;njLf;fTk;: 
I. Kjy; Ie;jhz;L jpl;lk;  - 1950 - 1955  
II. %d;whtJ Ie;jhz;L jpl;lk; - 1966 – 1970 
III. xd;gjhtJ Ie;jhz;L jpl;lk; - 1997 – 2002 
IV. gd;dpnuz;lhtJ Ie;jhz;L jpl;lk; - 2012 – 2017 
a. I kw;Wk; II rup b. III kw;Wk; IV rup  c. I kw;Wk; III rup  
d. II kw;Wk; IV rup e. tpil njupatpy;iy 

 
33. Which of the following bodies regularly reviewed the progress of the five 

year plan 
a. National Development Council b. Planning commission 
c. Cabinet Secretariat    d. Union Cabinet 
e. Answer not known 
Ie;jhz;L jpl;lq;fis tof;fkhf MuhAk; epWtdk; vJ?  
a. Njrpa tsh;r;rp FO   b. jpl;l Mizak;  
c. Nfgpdl; nrayfk;   d. kj;jpa Nfgpdl; 
e. tpil njupatpy;iy 

 
34. NITI Aayog has replaced for the planning Commission on 1st Jan, 2015 

with _____ as its Vice-Chair Person. 
a. G.S. Bhalla   b. Arvind Panagariya c. Vijay L Kelkar 
d. Suresh D. Tendulkar e. Answer not known 
jpl;lf; FOtpw;F khw;whf 1> [dthp 2015 md;W nfhz;L tug;gl;l epjp 
MNahf;fpd; mg;Nghija Jizj; jiyth; 
a. G.S. gy;yh   b. mutpe;j; gdfhhpah  c. tp[a; L. Nfy;fh; 
d. RNu~; D. nlz;Ly;fh; e. tpil njhpatpy;iy 

 
35. Identify the correct statements. 

1. In a first time, 11 products from Tamil Nadu were conferred with a GI 
tag. 

2. Tamil Nadu now has the highest number of GI tags with 52 products. 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf. 
1. Kjd;Kiwahf jkpo;ehl;bd; 11 jahhpg;GfSf;F Gtprhh; FwpaPL 
toq;fg;gl;Ls;sJ. 
2. 52 jahhpg;GfSld; mjpf Gtprhh; FwpaPLfisf; nfhz;l khepykhf 
jkpo;ehL cs;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 kl;Lk; 
d. 1 kw;Wk; 2 ,uz;Lky;y e. tpil njhpatpy;iy 
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36. The second Vande Bharat express has been flagged off from chennai to, 
a. Bengaluru  b. Kannyakumari  c. Coimbatore 
d. Mysore   e. Answer not known 
nrd;idapypUe;J vq;F nry;y ,uz;lhtJ te;Nj ghuj; ,uapy; 
njhlq;fg;gl;Ls;sJ? 
a. ngq;f@U  b. fd;dpahFkhp   c. Nfhak;Gj;J}h; 
d. ik#h;   e. tpil njhpatpy;iy 
 

37. India’s first fernarium has been set up in ____ National Park. 
a. Bandipur  b. Eravikulam   c. Guindy 
d. Periyar   e. Answer not known 
,e;jpahtpd; Kjy; ngh;dhhpak; ____ Njrpa G+q;fhtpy; mikf;fg;gl;Ls;sJ. 
a. ge;jpg;G+h;  b. ,utpFsk;   c. fpz;b 
d. nghpahW  e. tpil njhpatpy;iy 
 

38. If 40 men can build a wall 300 m long in 12 days, working 6 hours a day; 
how long will 30 men take to build a similar wall 200 m long, working 8 
hours a day? 
a. 4 ½ days  b. 8 days    c. 10 ½ days   
d. 11 days   e. Answer not known 
40 Ngh; 300 kP Rtiu fl;l xU ehisf;F 6 kzpNeuk; tPjk; Ntiynra;J 
12 ehl;fs; Kbf;fpd;wdh; vdpy; 30 Ngh; 200 kP Rtiu fl;l xU ehisf;F 
8 kzpNeuk; Ntiy nra;jhy; mt;Ntiyia vj;jid ehl;fspy; Kbg;gh;? 
a. 4 ½ ehl;fs;    b. 8 ehl;fs;   c. 10 ½ ehl;fs;  
d. 11 ehl;fs;  e. tpil njhpatpy;iy 

 
39. Three men A, B and C can complete a job in 8, 12 and 16 days 

respectively. A and B work together for 3 days; then B leaves and 
C joins. In how many days, can A and C finish the work? 
a. 2  b. 3  c. 4  d. 5  e. Answer not known 
A, B, C vd;w %th; xU Ntiyia KiwNa 8> 12> 16 ehl;fspy; 
Kbg;ghh;fs;. A, B ,UtUk; Nrh;e;J mt;Ntiyia 3 ehl;fSf;F nra;jdh;. 
gpd;dh; B tpyFfpd;whh;> C NrUfpd;whh; vdpy;> A, C Mfpa ,UtUk; Nrh;e;J 
mt;Ntiyia vj;jid ehl;fspy; Kbg;ghh;fs;? 
a. 2  b. 3  c. 4  d. 5  e. tpil njhpatpy;iy 

 
40. A is twice as good a workman as B and together they finish a piece of 

work in 14 days can A alone finish the work? 
a. 11  b. 21  c. 28  d. 42  e. Answer not known 



 

10 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

A vd;gth; B-ia fhl;bYk; ,Uklq;F rpwg;ghf Ntiyia nra;thh;. 
,UtUk; Nrh;e;J me;j Ntiyia 14 ehl;fspy; Kbg;ghh;fs;. vdNt A 
kl;Lk; me;j Ntiyia Kbf;f vj;jid ehl;fs; MFk;? 
a. 11  b. 21  c. 28  d. 42  e. tpil njhpatpy;iy 
 

41. Identify the correct statements 
1. 125-feet tall bronze statue of Dr. B.R. Ambedkar has been unveiled in 

Hyderabad. 
2. It was unveiled on April 24, 2023. 
a. 1 only    b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf. 
1. lhf;lh; gp.Mh;. mk;Ngj;fhpd; 125 mb cau ntz;fyr; rpiy 

i`jughj;jpy; epWtg;gl;Ls;sJ. 
2. ,J Vg;uy; 24> 2023 md;W epWtg;gl;lJ. 
a. 1 kl;Lk;    b. 2 kl;Lk;  c. 1 kw;Wk; 2 ,uz;Lk; 
d. 1 kw;Wk; 2 ,uz;Lky;y e. tpil njhpatpy;iy 
 

42. The New Foreign Trade Policy aims to increase India’s exports to ____ by 
2030. 
a. $ 1 trillion  b. $ 2 trillion   c. $ 500 billion 
d. $ 200 billion  e. Answer not known 
Gjpa may;ehl;L th;j;jff; nfhs;ifahdJ 2030 f;Fs; ,e;jpahtpd; 
Vw;Wkjpia ____ Mf cah;j;j jpl;lkpl;Ls;sJ. 
a. $ 1 bhpy;ypad;  b. $ 2 bhpy;ypad;   c. $ 500 gpy;ypad; 
d. $ 200 gpy;ypad; e. tpil njhpatpy;iy 
 

43. Mission 50K – EV4ECO is related to, 
a. Road connectivity across India. 
b. Installation of 50KW solar system in government offices 
c. Improve rail roads of India 
d. Adoption of electric vehicles 
e. Answer not known 
50K – EV4ECO jpl;lk; vjDld; njhlh;GilaJ? 
a. ,e;jpah KOtJk; rhiy ,izg;G 
b. muR mYtyfq;fspy; 50KW #hpa rf;jp mikg;igg; nghUj;Jjy; 
c. ,e;jpahtpd; ,uapy; topj;jlq;fis Nkw;gLj;Jjy;  
d. kpd;rhu thfd cgNahfj;ij mjpfhpj;jy;. 
e. tpil njhpatpy;iy 
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44. The 31st member of North Atlantic Treaty Organisation (NATO) is, 
a. Hungary  b. Norway    c. Finland 
d. Turkey   e. Answer not known 
tl ml;yhz;bf; xg;ge;j mikg;gpy; 31tJ cWg;gpduhf ,ize;Js;s ehL 
a. `q;Nfhp  b. ehh;Nt    c. gpd;yhe;J 
d. JUf;fp   e. tpil njhpatpy;iy  
 

45. India built Buzi bridge in the country, 
a. Bangladesh  b. Afghanistan    c. Mozambique 
d. Madagascar  e. Answer not known 
,e;jpah ve;j ehl;by; G[p ghyj;ijf; fl;bAs;sJ? 
a. tq;fhs Njrk; b. Mg;fhdp];jhd;   c. nkhrhk;gpf; 
d. klfh];fh;  e. tpil njhpatpy;iy 
 

46. Consider the following statements about New India Literacy Programme 
1. It is a centrally sponsored scheme. 
2. The scheme has five components. 
3. It aims to support non literates in the age group of 15 and above across 

the country. 
Which of the above statements is/are correct? 
a. 1 and 2 only   b. 1 and 3 only   c. 2 and 3 only 
d. All the above  e. Answer not known 
Gjpa ,e;jpah vOj;jwpT jpl;lk; Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,J xd;wpa murhy; epjpAjtp nra;ag;gLk; jpl;lkhFk;. 
2. ,j;jpl;lk; Ie;J $Wfisf; nfhz;Ls;sJ. 
3. ,J> ehL KOtJk; 15 taJ kw;Wk; mjw;F Nky; cs;s gbg;gwpT 

,y;yhjth;fis ,yf;fhff; nfhz;Ls;sJ. 
a. 1 kw;Wk; 2 kl;Lk;  b. 1 kw;Wk; 3 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

47. ‘Home Again’ is a rehabilitation scheme of Tamil Nadu government for 
a. Destitute women  b. Mentally – challenged   
c. Covid victims   d. Women who escaped domestic violence 
e. Answer not known 
‘kPz;Lk; tPL’ vDk; kWtho;T jpl;lk;> ahUf;fhf jkpo;;ehL murhy; 
nray;gLj;jg;gLfpwJ? 
a. iftplg;gl;l ngz;fs;     
b. kdeyk; Fd;wpath;fs; 
c. Nfhtpl; Nehahy; ghjpf;fg;gl;lth;fs;   
d. FLk;g td;KiwapypUe;J kPl;fg;gl;l ngz;fs; 
e. tpil njhpatpy;iy 
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48. If A and B can do a work in 6 days. B and C can do it in 12 days, C and A 
can do it in 4 days, how many days it would take to finish the same work 
by all the three together? 
a. 8 days   b.  4 days    c.  10 days   
d.  2 days   e. Answer not known 
xU Ntiyia A Ak; BAk; Nrh;e;J 6 ehl;fspYk;> BAk; CAk; Nrh;e;J 12 
ehl;fspYk;. CAk; AAk; Nrh;e;;J 4 ehl;fspYk; Kbg;gh; vdpy;. mth;fs; 
%tUk; Nrh;j;J mt;Ntiyia vj;jid ehl;fspy; Kbf;f ,aYk;. 
a. 8 ehl;fs;   b.  4 ehl;fs;   c.  10 ehl;fs;  
d.  2 ehl;fs;  e. tpil njhpatpy;iy 

 
49. A and B can separately do a piece of work in 45 days and 40 days 

respectively.  They worked together for some time, and then B completed 
the remaining work in 23 days.  Find the number of days A had worked 
for: 
a. 7 days  b. 9 days      c. 10 days     
d. 12 days   e. Answer not known  
A kw;Wk; B Mfpa ,UtUk; xU Fwpg;gpl;l Ntiyia jdpj;jdpahf 
KiwNa 45  ehl;fs; kw;Wk; 40 ehl;fspy; nra;J Kbg;ghh;fs;.  mth;fs; 
rpy ehl;fs; xd;whf Ntiy nra;jhh;fs;.  gpd;dh; kPjpAs;s Ntiyia 23 
ehl;fspy; B nra;J Kbj;jhh;. A vj;jid ehl;fs; Ntiy nra;jhh; vd;W 
fz;Lgpbf;fTk;?  

 a. 7 ehl;fs;  b. 9 ehl;fs;     c. 10 ehl;fs;   
d. 12 ehl;fs; e. tpil njhpatpy;iy 

 
50. A and B can together do a piece of work in 30 days.  B alone can do it in 40 

days.  A alone can do it in    
a. 100 days  b. 140 days   c. 120 days   
d. 180 days  e. Answer not known 
A Ak; B Ak; Nrh;e;J xU Ntiyia 30 ehl;fspy; nra;th; B kl;Lk; 
mt;Ntiyia 40 ehspy; nra;thh; vdpy;>A kl;Lk; mt;Ntiyia vj;jid 
ehspy; nra;thh;? 
a. 100 ehl;;fs;   b. 140 ehl;fs;    c. 120 ehl;fs;   
d. 180 ehl;fs;  e. tpil njhpatpy;iy 
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WEEK TEST 1 OF JUNE, 2023 
 

1 2 3 4 5 6 7 8 9 10 
C A B D B A D C B B 

11 12 13 14 15 16 17 18 19 20 
B B A A B A C D D B 

21 22 23 24 25 26 27 28 29 30 
C B D C C C B B C B 

31 32 33 34 35 36 37 38 39 40 
A B B B A C B B A B 

41 42 43 44 45 46 47 48 49 50 
A B D C C D B B B C 

 
 


